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#include <stdio.h>
#include <math.h>
#define N 100
double fncv(double x);
int main(void) {
int 1;
double tau = 10.0, e0 = 1.0;
double xmin = 0.0, xmax = 50.0, x, y, dh;
= (xmax - xmin)/(double) N;
for (i=0; i<=N; i++) {
x = xmin + dh*(double) 1i;
y = fncv(x);
printf ("%f %f\n", tau*x, e@*y);
3

return 0;
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y= [cosh\/_x+ s1nh\/_x}

o7
double fncv(double x) {

double a = 5.0, b;

double cl1, c2, val;

b = sgrt(a*a - 1.0);

cl = cosh(b*x);

c2 = a*sinh(b*x)/b;

val = 1.0 - exp(-a*x)*(cl + c2);

return val;
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#include <stdio.h>
#include <math.h>
double fncv(double x);
int main(void) {
double di@ = 10.0;
double x, dy;
double dh = 0.01;
x = 0.5;
dy = (fncv(x + dh) - fncv(x))/dh;
printf ("I = %f[mAJ\n", dy*diQ);

return 0;
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y=1-e>* [cosh\/ﬁx+%sinhx/ﬁx}

y = ﬁe's" sinhv/24x

double fncdv(double x) {
double a = 5.0, b;
double val;
b = sgrt(a*a - 1.0);
val = exp(-a*x)*sinh(b*x)/b;
return val;
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